| \\ BUDHA DAL I'UIHIIC'S“CH()OL, PATIALA
N g, TERM 1 SUBJECT- MATHS SESSION.2(3
N\ CLASS- § SET- B DATE. g o2
TIME- 3 hrs M.M-6) 23
Q I Multiple Choice Questions 1x10 =10M
13600 seconds - — hours,
a. d U3
b. 5 d.4

2) What is the Roman Numeral lor 10007

a. D ¢. XL
b. M d. L.
3) The sum of'3,80,000 and 2.10.000 is
a. 4.80.000 ¢.59000
b. 5.90.000 d.5,80,000
4) How many zeros are there in | million?
a. 4 @ 5
b. 6 d. 8 ,
5) What is the difference between 1 hour 30 minutes and 12 hous45 minutes?
a. 11 hours 15 minutes c.11 hours 25 minutes
b. 13 hours 75 minutes ' d.15 hours 65 minutes

6) What is the measure of the straight angle?

a.180° c270°
b. 0° d.360°
7) What is the predecessor of 9876549
a. 987630 c.187654
b.987653 d.98653
8)How many minutes are equal to 3 hours?
a. 60 c.380
b.180 ‘ d.200
9) Which of the following is the smallest prime number?
a.4 c.8
b. 1 d.2
10) What is the tens digit in the quotient 0f 9990 + 9?
a.9 i
b.10 d.1
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7) There are Is neither a prime number nor a composite number i

<~ are _ davs in & wesh o

3) 7th multipie gy ™ ™ 3 weeks. \
4) The quotien, of' 87253 - | i"~:.

K ‘ . 2x6=12 M

Q3.Answer the l‘ollowing questions

1) Find the L.C. :

2) Add 362493 ;\I;Ido:; 180:1/'.;d o

3) Findthe H.C. of 18 an(] 20.

4) Dra\\’.an angle of 140° Us""? a pregencior

5) What is the 'Cmainder when 70000 is divided by 7?
6) Write the Romap numery| l'orl

a. 100

b. 65
Q4. Answer the following questions ) 3x6=18

1.X58440 is distributed €qually among 12 people . Check if any amount is leftover.

2. Identify the different types of angles marked in the given letters.

\
3. Find all the factors of 36.
- 4. Convert 7 hours 25 minutes into minutes.
5. By putting commas write the number name of 54693218 by using Indian System.
6 .1) Prime factorise 18 using a factor tree. ' :
ii) Subtract 169535 from 405975,
4X4=16

Q5. Answer the following questions.
I. Seema shares 960 candies with her friends. She gives 2.3.4.5 or 10 candies to each

friend. In how many different ways can she distribute all candies equally among her -

friends so that no candies remain?
2. A shop has 325 biscuit packets. Each of them cost 2120. Find the total cost of all the

biscuit: packets?
3. a) Find the first 4 common multiples of 6 and 8. '
b) Subtract 4 hours 13 minutes from 6 hours 32 minutes.

4.a) Arrange in ascending order
6325097, 2187523, 100000, 872591 .

b) Write the Place Value and the Face Value of the underlined digit 7829364.

¢) Compare by using >, <, =
4723969 4732969
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